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(A) BEI=L BN 100KN/MEBZ ZREOBIHO ADBKBRN/M  (E) HESHIMERZZEEOEED H OB KBERN/ M) proges = T
(B) (WA LR BT B O+ B EDHS(m) (F) E)h BEHBEM RS 558 D L FE DB M) ERFAR FTTE R &I
(C) #EN=&LBHA100kN/ MU T DX B DFEI D H DERKIEKN/M) (G) HIESHIMUTORIGEDHIED HDOZAEKRN/M) L nE S
D) ON LHLEEMI AT IEEDTREZENSS(m) H) QA SLEEY AT IEED T EZENSS(m)
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(A) (B) (c) (D) (E) (F) (G) (H) (A) (B) (C) (D) (E) (F) (@) (H)
(1) - - 82.9 1.0 - - 10.1 20 - - 76.3 1.0 - - 10.1 20
(2) 1185 1.0 98.9 1.0 - - 11.6 2.3 116.3 1.0 96.8 1.0 - - 11.6 2.3
( 3) 1221 1.0 99.3 1.0 - - 12.2 2.4 121.2 1.0 98.6 1.0 - - 12.2 24
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